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Instruction : (A) Question No. 1 is an objective type question. It has three

Parts-Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type qucsFions, Part (B) has Match the following and

Part (C) has Fill in the blanks. Each Part has questions

and each question carries 1 mark.
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(m_a)gﬁfaﬁr qquﬁﬁﬁﬂz

(Part-A) Choose

(1

(11)

and write the correct option :
Sfa®s wanA T

(37) "l

(&)

(&) a9

(3) 9

The biological resource 1s :

(a) I.-"ish

(») Land

(c) Air

(d) Water

Economic recession started from which country?
(a) Germany

(b) America

(¢) Russia

(d) Britain

[1%5=5]
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(i1} TH.HLE, (F.C.1.) F1 vaee §

( 37) WA & @iy fa2eit ggdm
(&) W sitarem
(&) s faq fim

(&) w“d g r famg

The meaning of F.C.L. is :

(@) Foreign Collaboration with India
(b) Fossil Corporation of India

(c) Finance Corporation of India

(d) Food Corporation of India

(iv) WTEAAE AT w1 IS E
() WWW{@H@W

K\Q
(@) mg@s iRl

(@) @tmawmamﬁ@m
(3) Iudaa gt

An example of pul:;lic services 1s :

(a) opening hospitals by the Government

(b) opening schools by the Government

(¢) opening Anganbari Kendra by the Government

(d) All of the above
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[4]
(v) ﬁmﬁﬂﬁqgimmmquﬁ%?

(37) S

(q) ¥

(g) &4

(2) fae

Who among the following is not a permanent member of
Security Council?

(@) America

(b) India

(¢) Russia

(d) Britain

K\Q
6@
NS
W1 (WUS-u) 3 g AT [1%5=5]
$
(&) (@)

() Frwfawed - () 1939
(i) A F ER - () SN S SIS SO
(iii) fgia faagg - (9) TR¥ S
(iv) #3818 (PDS) - () T S
(v) efiEH - (3 TS
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[S]
(Part-B) Match the following :

(A) (B)
(/) Altermative of Coal - (a) 1939
(if)  The defeat of Germany - (b) Providing food-grains
(#i1) Second World War - (c) Graham Bell
(ivy P.D.S. - (d) Nuclear energy
(v) Telephone - (e) Unity of friendly nations
-1 (Ees-u) e v # ofd Fifee . [1%5=5]

(Part-C) Fill in the bl@@ks

(i) ﬁ&ﬁ%@%ﬁ—mwm|
@

Due to shortage of agricultural land, production of will be

decreased.

(if) @OF F HEA B T TEH — ¥

Main food-grain of Kharif crops is

(iif) —— SZel ol AHITE YIS 97 )

was the dictator of Italy.
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[6]
(iv) avaﬁmmﬁmzﬁaﬁﬂ%——aﬁm’thgaﬂ%l

' ea.
Globalization benefited the class in the urban ar

(v) i fe A T H — e S 1 Y A

Lokmanya Tilak published a magazine in Marathi,

fader :(a)mnﬁzﬁbmmﬁta@mﬂﬂﬂﬁ%uuﬁﬁﬂﬁﬂ
2maﬁfaﬂﬁl(waﬁafmn?@—ﬁmsow%)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

gvA-2 291 % T F gEs #E? (2]
What is the indicator of development of the country?
"~
w¥-3 mtﬁaaﬁéﬁgﬁmﬁmm%? 2]

How is cash@urchasc done?

-4 e 3 ey it  seradn fe 2

(2]
Under what situation Japan surrendered?
WyA-5 o YR 950 (HE an) | (141=2]
State the types of tax (any two).
-6 WG e A g 7 98 fndent Iufew a1 2 (1+1=2]

When did India become Independent? Whose colony was it?

§5-3C
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Frdor : (H)wm7ﬂ1nﬁaﬁm—mﬁnm%|mmm
3 3% amfen &1 (IW F tfvrram wE-Hm 50 v 1)
Instruction :  (C) Question Nos. 7 (o 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word-limit of
answer is 50 words)
WYH-7 Tl o WA o it e wAifoal € 2 wwemen (S @) | [141+1=3]
What are the challenges in front of democracy even today? Explain
(any three).
WyA-8 T G HI Ugd 9gH & ot HUHR A #Fa1- 0 FeH IS E 7 HHARY
@A | (1+1+1-3)
&6 : .
What are the %@taken by the Government to increase food security?
S
Explain (any three).
uyt-9  vifa ameer % st fafeg (/) | [1+1+1=3]
Write the aims of Peace Movement (any three).
UYT-10  SSRIHTU bl ST ¥ H TR (3]
Explain Liberalization in your own words.
S3C T,
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18]
: (3) T FHE 11 W 14 T @g-aty v &) gl g d

ST faed %1 eyt w4 ofd amafed ¥ 1 (ST H

SfyHan W= 75 ey ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.

w9t-1

wW-12

Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

e fava 43 & fFel o’ Fni =51 3o Fifew [1+1+1+1=4]

Mention any four reasons for the First World War.

3Herqr

OR

g9ra &I |y & ug@mﬁ\\@-aﬁ?ﬁ i ?

| S

What were the m@ms of the Treaty of Versailles?
QQ

$

feeer =l fagw Hifa #1 wwaRw) [4]

Explain Hitler’s Foreign Policy.

Jergr

OR

Tt ® e & R F ww wn fafae [141+1+1=4]

Write four reasons for the rise of Mussolini in Italy.
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[9]
yy-13 AT @fest  go m e me ¥ 5w g et swdn fee v |
feora ST § 2 38 aferant  wiftw - [1+1+1+1=4]

&. =fam et =1 sTEm
1 | PR
2 | feam
3 | HfwR
4 |Ta W wlzen

Some names are given in the table. How do they use soil? Fill in
the table :

SL.No. Persons Use of Soil

Potter

Farmer

l
2
3 | Sculptor
4

Woman of village

Q arear

Q

&6\\ OR
> .
Q .

gmw@%mm-mﬁmmmmwm

HIf | S (4]

What are ‘the different methods adopted for land management?

Explain.

UWA-14  FAUE Y PH-HA | AR W€ B § 7 THET | [4]
What are the figures obtained from census? Explain.
arerar
OR
s faehie T % fAg e R, R 2 qwemEn

Population explosion is fatal for society, how? Explain.
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[10]
Fraer : (3) meqﬁwzﬁ—ﬁﬂﬂw%lmmﬁm

ﬁm%wﬁﬂawmsaﬁaﬁﬁﬁ%l(ﬁﬁw

ye-dm 100 TR §)

estions.
Instruction : (E) Question Nos. 15 and 16 are long answer type qu

: - lestion carries
Each question has internal option. Each question

: - i ords
5 marks. (Maximum word-limit of answer 15 100 words)

wyq-15 Wﬂﬁﬁ—fﬂﬁﬁﬂﬁmﬁ@%(ﬂﬁ?)? (1+1+1+141=5]

What are the problems arising from Urbanization (any five)?
3re/ T/ OR
ey sfiarg ik TR sfuara F g Sty (1S UT=) |

Compare Rural Settlement and Urban Settlement (any five).

N

S

U¥-16 wmwkf@aﬁwqﬁ%ﬁwﬁﬁaﬁ@ﬁﬁw
S

) \@\ [1+1+1+1+1=5]
$
Agriculture is very important for India. Explain in any five points.
Jerar
OR

e FfH W T ITEREN FOFN R oHaw A fefey
(T uier) |

Write briefly the reasons for the low productivity of Indian
Agriculture (any five).
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[11]
FrdoT : (tﬁ)mmnqﬁ1aéﬁf-mm%|mwﬁm

ﬁmﬁlmmmeaﬁawﬁﬁaﬁl(mmﬁaﬁ;mq
-9 150 y= )

Instruction 3 (F)  Question Nos. 17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks. (Maximum word-limit of answer is /50 words)

17 I8 waEm 5wl A waem w1 T 9w ¥2 wwemu

(P B:) | [1+1+1+1+1+1=6]
Why some voters do not go for voting? Explain (any six).
W/OR
wAer Wiha % B: fag forga e smen #ifa
\\Q

Briefly explain si ints of Voting Process.
y exp \Q@% g

QQ
S

g8 wEm wmem & wEE w wde @ ah whw
(FEB:) | [1+1+1+1+1+1=6]

Describe the powers and duties of the Supreme Court (any six),

3gqr/OR

WW%W@WWWW(@QF:)I

Describe the works and powers of Indian Parliament (any six).
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